

Request for Quotation

DPS1114

PAGE	è
i	

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

RFQ COPY
TYPE NAME/ADDRESS HERE

Network Innovations 1501 Green Road Pompano Beach, Florida, 33064 WEST VIRGINIA STATE POLICE

DATE PRIN 01/06/		e de la composição de l	MS OF SAI	€	SHIP VIA		FOB.	FREIGHT TERMS
BID OPENING DATE		02/01/	2011	*****	BID	0F	ENING TIME 01	:30PM
LINE	QUA	NITTY	UOP	CAT. NO.	ITEM NUMBER		UNITPRICE	AMOUNT
0001		10	EA		725-74		3836	38360
	TWO-WA		LE SA	TELLI	TE RADIOS			0000
					·			,
							•	
						ĺ		
					,		•	
				OPEN	-END CONTRACT	.	,	
				J. 2				·
	INQUIR				٠.			
	WRITTE	N QUES	TIONS	SHAL	L BE ACCEPTED U			
	OF BUS					MA	Y BE SENT VIA	
	VENDOB	PECET	OUKIE	K AND	E-MAIL. IN DR	DER	TO ASSURE NO	
	DHESTI	UNC DI	VES A	HUU M	AIR ADVANTAGE, I			
					ERED ORALLY. II REFERRED. ADDRI		OSSIBLE,	
	E-MAIL	QUESI	TON2	AKE P	KELEKKED. ADDKI	ESS	INMOTRIES 10:	
	TARA L	VI F				İ	•	
	I .		Б Д ВМ	TNTST	RATION ·			
	PURCHA				KA) TOR		•	
	2019 W				. FAST	'		
	CHARLE				, _,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,			<u> </u>
					-			IVED
	FAX: 3	04-558	-4115					
	E-MAIL	: TARA	.L.LY	LE9MA	.GOV		000 1444 0 0	—
							2011 JAN 28	P 12: 40
								and the same
•			ļ	-			HASIN	G DIVISION
	EXHIBI	T 3		•	·		STATE	OF WV
		- 00VT				_		
	LIFE O				IS CONTRACT BECO	OME	S EFFECTIVE ON	,
	VEAD OF	HINTT	LEMDS	FUK	A PERIOD OF ONE	(1)	
	NECESS	ADV TO	ORTA		ASONABLE TIME" 1 NEW CONTRACT OR	HE	REAFIER AS IS	
	· · L L J J /	71. 10	UDIA.	TIA W	MEM CONTRACT UK	KE	IACM INF	
			ļ	1			•	
				SEEREV	ERSE SIDE FOR TERMS AND CO	TIONS	ONS	
SIGNATURE (- 123	9 2			TELEPHONE 1	87	7 311 1411 DATE 2	27 January 2011
TILE Account	Managa	, FE	1.09	029.2	824-300 61065			TO BE NOTED ABOVE

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.

3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.

- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- · 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as **EQUAL** to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130

5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



Request for Quotation

DPS1114

PAGE

TARA LYLE
304-558-2544

RFQ COPY TYPE NAME/ADDRESS HERE

Network Innovations 1501 Green Road Pompano Beach, Florida, 33064 WEST VIRGINIA STATE POLICE

DATE PRIN	TED	TE	HMS OF SA	LE		HIP.VIA				FO B		FREIGH	TTERMS	999
01/06/						*************			·					82.
BID OPENING DATE		02/01/	<u> 2011 </u>				BID	OPE	NING	TIM	E 0	1:30PM	,	
LINE	QUAN	YTITY	UOP	CAT.	ITE	I NUMBER	l.		u	VIT PRICE			OUNT	
			3	23005000000	100000000000000000000000000000000000000									8
	DRIGIN	AL CON	TRACT	. TH	E "REAS	SONAR	F TT	ME:	PER	מחד	CHALL			
	NOT EX	CEED 7	MELVE	(12)	MONTHS	S. D	URING	TH	IS "	REAS	ONABLI			
	TIME"	THE VE	NDOR	MAY T	ERMINAT	TE TH	IS CO	NTR	ACT	FOR	ANY			
	REASON WRITTE	UPDN W NOTI	GIVIN	G THE	DIRECT	OR D	F PUR	CHA	SING	30	DAYS			
	MKTILE	נוטא א	LE.											
	UNLESS	SPECI	FIC P	ROVIS	IONS AF	RE ST	TPULA	TFD	FIS	FWHF	RF		•	
	IN THI	S CONT	RACT	DOCUM	ENT, TH	E TE	RMS,	CON	DITI	ONS	AND .			
:	PRICIN	G SET	HEREI	N ARE	FIRM F	OR T	HE LI	FE	OF T	HE				i
	CONTRA	CT.			<u> </u>									
	RENEWAI	L: THI	S CUN	TRACT	MAY BE	DENI	շաբո	HDO	N TU	E' MIII	Turki			
	WRITTE	N CONS	ENT O	F THE	SPENDI	NG UI	NIT A	OF G ND	VEND	OR.	IUAL			
	SUBMIT.	TED TO	THE	DIREC	TOR OF	PURC!	HASIN	G T	HIRT	Y (3	0)			
	DAYS PI	RIOR T	O THE	EXPI	RATION	DATE	. su	CH	RENE	WAL	SHALL	,		
	DE IN A	AUCURD Al com	ANCE	HTIW	THE TER	MS AI	ND CO	NDI	TION	S OF	THE			
	(1) YE	AR PER	TODS.	AND	SHALL E	E LII	ATIFA	10	TWO	(2)	ONE			
	CANCELI	LATION	: THE	DIRE	CTOR OF	PUR	CHASI	NG	RESE	RVES	THE			ı
	RIGHT	TO CAN	CEL T	HIS C	ONTRACT	IMME	EDIAT	ELY	UPO	N WR	ITTEN	1.		
	NOTICE	HT 0T	E VEN	DOR I	F THE C	OMMOI	DITIE	S_A	ND/O	R SE	RVICES	3		ı
	TO THE	SPECT	FTCAT	TUNE N TNE	ERIOR Q OF THE	UALI]	TY DR	DQ DNT	NOT	CON	FORM			
		0. 201		,	0) 1116	BID F	AINT C	UISI	KACI	HER	EIN.		•	
_	OPEN MA	ARKET	CLAUS	E: TH	E DIREC	TOR C	OF PU	RCH.	ASIN	G MA	Y			
	AUTHOR	IZE A	SPEND	ING U	NIT TO	PURCH	ASE I	' אם	THE	OPEN				
3	MARKET,	, WITH	OUT T	HE FI	LING OF	A RE	EQUIS	ITI	ON O	R CO	ST		٠	
а	TMMFDTA	TF DE	EMS S	V TH	IED ON Emergen	THIS	CONT	RAC	T FO	R			•	
	CAUSES	(INCL	UDING	BUT	NOT LIM	ITED	TO D	FI A	UNFUI Vs. ti	KESEI N Tri	7 N C =			
	PURIALI	LUN UR	AN U	ITNAN	CIPATED	INCF	REASE	IN	THE	VOL	JME			
	OF WORK	(·)	. j	ĺ			ĺ				•		•	ĺ
	OHANTTT	FTEC.	OHENT		LIOTER				.				•	
	APPROXI	MATTO	UCANII. Ne oni	LILES	LISTED ASED ON	INT	HE R	EQU	ISIT	ION /	ARE	•		
		,,,,,	TO GIVE							TCN]) Y	,		
IGNATURE (SEE RE	ERSE SIDE FO		LICANIE		A CARLO CONTRACTOR					
	- 1	·			-			<u>87</u> 7	311	1411	DATE	27 Januar	y 2011	
Account	r FE	^N 1-98	3 - 038-2	2824-300	6106	5		AD	DRESS	CHANGES	TO BE NOTED	ABOVE	٦	



Request for Quotation

8 H P DBC1116

....PAGE

ADDRESS CORRESPONDENCE HOLATHENTION OF

TARA LYLE 304-558-2544

RFQ COPY Type name/address herë .

Network Innovations 1501 Green Road Pompano Beach, Florida, 33064 WEST VIRGINIA STATE POLICE

DATE PRIN	TED	TE	RMS OF SAL	E	SHI	PVA		FOB	FREIGHTTERMS
01/06/								,	
BID OPENING DATE:	Income and the same and the	02/01	/2011			BID	OP	ENING TIME	01:30PM
LINE	GUA	YTITY	UOP	CAT. NO	ITEM.	(UMBER		UNITPRICE	AMOUNT
	100000000000000000000000000000000000000	<u> </u>	(1000000000000000	·				•	
	THE ST	ATF SE	FNDIN	C IINT	T. IT 1	S UNDERS	TO	OD AND AGREED	,
								TIES ACTUALLY	
								THE CONTRACT,	
						QUANTITI			•
			ŀ						·
								LL ISSUE A	į.
								R WV-39) TO	
								IS CONTRACT.	
	1							MAILED TO THE	, i
1	1					•		SECOND COPY	
					NG UNIT.		A	THIRD COPY	
	KETAIN	ום עם	IRE S	LEMDI	MQ ONTI	•		•	·
	BANKRIJ	PTCY:	TNT	HF FV	ENT THE	VENDOR/C	กม	TRACTOR FILES	
!	1							DEEM THE	
								CH CONTRACT	•]
	WITHOU						-		
								•	
•	THE TE	RMS A	D CON	DITIO	NS CONTA	INED IN	ТН	IS CONTRACT	·
						BSEQUENT			
								HED PRINTED	•
								MS, SALES	
							IN	CLUDING ANY	
	ELECIK	UNIC	IFDIOM	SUCH	AS CD-F	eum.			
	REV. 0	E / 24 / 2	nna						
	ILV. U	J/ 20/ 2		24.					·
•	THE MO	DEL/BE	AND/S	PECIF	TCATIONS	. МАМЕТ Н	FR	EIN ESTABLISH	
						Y ONLY A			
1					•	ICE OR FA			,
								ARE BIDDING	
	ALTERN	ATES S	HOULD	SO S	TATE AND	INCLUDE	P	ERTINENT	
					CATIONS.			TO PROVIDE	
								OUNDS FOR	
	REJECT		1 1					S THE RIGHT	
	IU WAI	AF WIN	INK IK	KEGUL	ARITIES	TN RIDS	UR	SPECIFICATION	N
			<u> </u>	SEERE	/ERSE SIDE FOR	TERMS AND CO	NDI31	ONS	
SIGNATURE	- 1.00000 - 1.000000 - 1.000000000000000000000000000000000000					TELEPHONE 1	87	7 311 1411 PAT	^E 27 January 2011
TITLE Account	Manage	r F	EIN 1-98	R-038-2	2824-300			1011	ES TO BE NOTED ABOVE
Account	ıvıarıaye	1	1-90	7-030-2	-UZ4-JUU t	UUU		ADDRESS CHANG	ES IO DE NOTEU ABOVE



Request for **Quotation**

Ø1-P

O T DPS1114

PAGE

ADDRESS CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

RFQ COPY
TYPE NAME/ADDRESS HERE

Network Innovations 1501 Green Road Pompano Beach, Florida, 33064 WEST VIRGINIA STATE POLICE

DATEPRIN	TED	T	HMS OF SA	£		SHIP	/IA	×		C/B	····I	FREIGHT TERMS
01/06/	2011					,			***************************************	*		
BID OPENING DATE:		02/01	/2011		*		BID	OP	ENING	TIME	01	:30PM
LINE	QUA	ANTITY	UGP	CAT. NO		JTEM NUJ	VBER		UN	IT PAICE		AMOUNT
-	IN ACC	CORDAN NIA LE	CE WIT GISLAT	H SEC IVE R	TION ULES	148- AND	1-4(F) REGULA	0F 10	THE Ns.	WEST		
	CURREN IS ISS MUST A	NTLY U SUED T ACCEPT	TILIZE HROUGH THE S	S A V A BA Tate	ISA I NK. OF WI	PURCH THE EST V	E STATI ASING (SUCCESS IRGINIA	CAR SFU A V	D PRO L VEN ISA P	GRAM W DOR URCHAS	HICH	
	AGENCY						PLACED	BY	ANY	SIAIE		
	EXHIBI	[T 4					•			•		
·	IN THE	BID DNDITI	HIS RE	FUSAL The	TO I	XTEN TO CO	SS THE I	PRI SCH	CES, DOL,	TERMS, Munici	PAL	
	TO POL VIRGIN PRICES	ITICA NIA. S, TER	L SUBD If the MS, an	IVISI VEND D CON	ONS (OR D(DITI(OF TH DES N DNS O	ES, THE E STATE OT WISE F THE D	O I BID	F WES D EXT TO A	T END TH LL	E	
	CLEARL	Y IND NOT P	ICATE	SUCH	REFUS	SAL I	TATE, T N HIS I F THIS	BID	. su	CH REF	USAL	
	REV. 3	8/88										
4				NOT	ICE							
	A SIGN	(ED BI)	MUST	BE S	UBMIT	TTED	T0:					
	P B	URCHA!	MENT D SING D NG 15 ASHING	IVISI	ON							
					,					· .		
				SEE RE	/ERSE SI	DEFORT	FIMS AND CO	NDIT	ONS			
SIGNATURE		· . <u>-</u>					TELEPHONE 1	877	73111	411	DATE 2	27 January 2011
TITLE Account I	Manage	er	1-98	3-038-2	2824-3							TO BE NOTED ABOVE



Request for Quotation

DPS1114

PAGE 5

WADDRESS: CORRESPONDENCE TO ATTENTION OF

TARA LYLE 304-558-2544

RFQ COPY
TYPE NAME/

RFQ COPY
TYPE NAME/ADDRESS HERE

Network Innovations 1501 Green Road Pompano Beach, Florida, 33064 WEST VIRGINIA STATE POLICE

DATE PRINT	2000/2000/2000/2000	TER	MS OF SAI	E	SHIPVIA	F	O.B.	FREIGHTTERMS	
01/06/ BID OPENING DATE:		02/01/	2011		BID	OPENING	TIME 0:	1:30PM	
LINE	QUAN	YTITY	UOP	CAT.	ATEM NUMBER		TPRICE	AMOUNT	
	С	HARLES	TON,	WV 2	5305-0130				
		VELOPE			THIS INFORMATIO D MAY NOT BE CON				
	BUYER: RFQ. N				TL/32 DPS1114			-	
					02/01/2011 1:30 PM			-	
					UMBER IN CASE IT NG YOUR BID: 17029740504	IS NECE	ESSARY		
	CONTAC	T PERS	ON (P	LEASE	PRINT CLEARLY): Rick MacKinnon				
•				∞SEE:RE	VERSE SIDE FOR TERMS AND CO	NDITIONS			
SIGNATURE	- 1					877 311 1	411 DATE	27 January 2011	
TITLE Account									

TWO-WAY MOBILE SATELLITE RADIO SPECIFICATIONS

DPS1114

The West Virginia State Police desires to establish an open-end contract for the purchase of two-way mobile satellite radio equipment and related accessories. The contract shall be available for use by the WV State Police and all other entities of state government, as well as counties and municipalities, as this will assist in the State's Interoperable Radio Communications.

Response to this RFQ should be in the same format as this RFQ. The vendor should designate their compliance to each item by selecting "Yes" or "No" as applicable. Vendors shall utilize the attached quotation forms and for listing their costs quoted for each item listed.

This contract will be awarded to one vendor. The award of this contract will be based on the Grand Total for the equipment and all alternates.

			Comp	ly?
1.	Sate	lite Service Provider Requirements:	<u>Yes</u>	<u>No</u>
	1.1.	Must provide 24/7 manned dispatch (Operator) capabilities.	Yes	
	1.2.	Must provide at least one secure, dedicated talk group per account for exclusive use at no additional charge.	Yes	
	1.3.	Must provide PTT access to National and Regional Satellite Interoperable Satellite Mutual Aid Radio Talkgroups (SMART), or comparable, at no additional charge.	<u>Yes</u>	
	1.4.	Must provide for a monthly dormant fee for units placed in a storage stage.	Yes	
	1.4	4.1. This fee will be used instead of the monthly service fee when units are placed in storage and the service provider is notified the unit(s) is being placed in the dormant stage.	Yes	
	1.4	2.2. There shall be no limit to the number of times a unit(s) is	Yes	

			• •	Compl	
				Yes	<u>No</u>
	1.4.3.	account with written documentation of changes made as soon as possible, documenting the changes made and the name and agency or individual who requested the changes and the cost, if any, for these changes.		Yes	
2.		rmanently Mounted, Satellite Communt of Configuration:	ınications		
	2.1. Rad	lio:.			
	2.1.1. Ra	Shall consist of all items listed in Section adio Transceiver Unit) of these specifications.	n 5 (Common tions.	Yes	
	2.2. Fixe	ed Power Supply:.			
	2.2.1.	Shall have 117 / 230 VAC charging ca	pability with a	Yes	
		standard length 3-prong (grounded) pogrommet-protected where it penetrate	ower cord that is s the enclosure.		
	2.2	1.1. Shall have an on/off power switch the color green when in the "on"	h that illuminates position.	Yes	
		2.2.1.1.1. This switch shall be located o the box.	n the interior of	Yes	<u></u>
	2.2	.1.2. The fuses must be inside the box		Yes	
		accessed by the user, marked as individual purpose, and must be so they are readily/easily obtains most aftermarket supply centers.	of standard type ed by user at		
	2.2.2.	Shall have a minimum backup battery AH, 12 Volt sealed Lead-Acid Rechar and installed in such a manner that man end user to change.	geable Battery	Yes	<u> </u>
	2.2	.2.1. The battery circuitry shall be des the battery fails, the box will con uninterrupted from the external r	tinue to power	Yes	

		, " ,	Compl	-
2.3.	Fixed Antenna:		<u>Yes</u>	<u>No</u>
2.3.	the antenna perman	nust come with hardware to affix ently to users' structures, typically or walls (to be specified at time of	Yes ·	
;		s must meet a minimum wind / ice PH in the West Virginia radial icing	Yes_	
2.3.	Fixed Enclosure:			
2.3.	located on the exteri	na connection, with a leashed cap, ior at the bottom of the box e bottom orientation of a wall-	Yes	
2.3.	bottom left side and	orts with grommets located at the right side for passing the handset nsion through the box.	Yes	
	•	ports in the enclosure must be ceasily accommodate passage of 15 connector.	Yes	
2.3.	for the enclosure will provided for exhaust	est, a ventilation fan and finger grill It be provided. Provisions will be t air brought into the enclosure by n option is requested.	Yes	
;	2.3.3.1. Shall have a m	inimum air exchange of 100 CFM.	Yes	
2.3.	_	g shall be wall-mountable and y mounting hardware.	Yes	
2.4.	Connections to other equ	ipment:		
2.4.	particular LMR (land	nectivity to 3rd Party interfaces, in I mobile radios), with a 4-wire, 600 and able to interface to standard	Yes	

		Compl	y?
2.4.2	The prospective vendor must make available interconnect cables to interface with all major manufacturers' current models of two-way radios and consoles.	Yes Yes	<u>No</u>
3. Portable	Satellite Communications Equipment Configuration:		
3.1. R	adio:		
3.1.1	Shall consist of all items listed in Section 5 (Common Radio Transceiver Unit) of these specifications.	Yes	-
3.2. P	ower Supply:		
3.2.1	The unit shall have 117-230 VAC and 12 VDC charging capabilities for internal battery.	Yes	
3.2.2	Shall be equipped with a rocker style on/off system switch that illuminates the color green when in the "on" position.	<u>Yes</u>	<u> </u>
	3.2.2.1.1. This switch shall be located on the interior of the box.	Yes	
3.2.3	The system shall operate from either DC or AC power sources, as selected by the user.	Yes	<u></u>
	3.2.3.1.1.1. A 117 VAC power supply assembly shall be provided to convert AC to DC.	Yes	
	3.2.3.1.1.2. The DC input should be capable of operating on 12 VDC.	Yes	·····
	3.2.3.1.1.3. The power supply shall automatically switch to backup battery input upon failure of the AC input power.	Yes	
3.2.4	Shall be equipped with surge protection and voltage regulation to maintain the system in an "on" status regardless of what is happening with the AC/DC power source.	Yes	

		Comp	-
	· · · · · · · · · · · · · · · · · · ·	<u>Yes</u>	<u>No</u>
3.2.5.	Shall be equipped with a light that changes color to indicate when the primary power source is either a nominal 117 VAC or 12 VDC power source. This light shall illuminate whenever the unit is powered on.	Yes	
3.2.6.	Shall be equipped with a minimum capacity of a 7.5 AH gel cell type battery, installed in such a manner to make it easy for an end user to change.	<u>Yes</u>	
3.2	.6.1. Battery circuitry shall be designed such that if the battery fails, the portable kit will continue to power from either the AC or DC power source.	Yes	
3.2.7.	The power supply must not derive power from an AC and DC power source at the same time.	Yes	
3.2.8.	Shall be equipped with two (2) cigarette lighter receptacles with leashed/hinged covers.	Yes	
	rtable Satellite, Communications Equipment Housing closure:		
3.3.1.	Must have optional external speaker with independent volume control separate from the handset which will not mute the audio on the handset itself.	Yes	·
3.3	.1.1. The standard supplied minimum external speaker cable length shall be at least 10 feet long.	Yes	
3.3.2.	This external speaker shall have mounting capability within the kit such that the lid may close with the speaker installed.	Yes	
3.3.3.	Shall have warning stickers prominently displayed cautioning the user: "Unit should only be powered on with antenna attached".	<u>Yes</u>	
3.3.4.	The interior of the lid shall offer "office features", such as a white board or a plastic envelope which contains paperwork that can be seen through the envelope. The lid may also accommodate a place for yellow self-sticking memo notes or a fully contained clip board next to a white board	Yes	

		Compl	y?
3.3.5. Encl	osure design:	Yes	<u>No</u>
3.3.5.1.	Must be watertight, crush proof and dust proof.	Yes	
3.3.5.2.	Must be open cell core with solid wall design – strong yet light weight.	Yes	
3.3.5.3.	Must have an Automatic Pressure Equalization Valve.	Yes	
3.3.5.4.	Must have an O-ring seal.	Yes	·
3.3.5.5.	Must have comfortable rubber over-molded handle.	Yes	
3.3.5.6.	Must have stainless steel hardware and padlock protectors.	Yes	
3.3.5.7.	Must have an Unconditional Lifetime Guarantee of Excellence.	Yes	
3.3.5.8.	Must have a minimum operating temperature range of: Minimum -10° F (-23° C) Maximum +210° F (+99° C).	Yes	
3.3.5.9.	Must have a minimum lid depth of: 1-13/16" (4.6 cm).	Yes	
3.3.5.10.	Must have a minimum case depth of: 6-1/16" (15.5 cm).	Yes	
3.3.5.11.	Must have a minimum buoyancy of: Floats in salt water with 55 lbs (25 kg) load.	Yes	
3.3.5.12.	Must have Approvals: IP 67 ATA Specification 300 Military Standard C-4150J.	Yes	
3.3.5.13.	Must have minimum inside dimensions: 21-3/4" x 16-13/16" x 7-7/8" (55.2 cm x 42.7 cm x 20 cm).	Yes	

			Comp	ly?
	3.4.	Portable Satellite, Antenna Systems:	<u>Yes</u>	<u>No</u>
	3.4.	 Land-use mobile antenna systems must be easily deployed and dismantled. 	Yes	
	3.4.	 Must fit securely into the storage case as noted in Section 3.2 of these specifications. 	Yes	
	3.4.	 Marine-use mobile antenna systems must be small and easily deployed and dismantled. 	Yes	
	3.4.	 All needed antenna cables and mounting paraphernalia shall be included. 	Yes	·
		3.4.4.1. The standard supplied minimum portable unit antenna cable length shall be 20 feet.	Yes	
		Portable Satellite, Communications Equipment Connections o other equipment:		
	3.5.	 Must have interconnectivity to 3rd Party interfaces, in particular LMR (land mobile radios), with a 4-wire, 600 ohm audio interface and able to interface to standard COR and PTT type signaling. 	Yes	
	3.5.	 The prospective vendor must make available interconnect cables to interface with all major manufacturers' current models of two-way radios and consoles. 	Yes	
4.	Mobile	Satellite Communications Equipment Configuration		
	4.1. i 4.1.	Radio: 1. Shall consist of all items listed in Section 5 (Common Radio Transceiver Unit) of these specifications.	Yes	
		Shall have a mobile antenna with necessary mounting pardware and cabling.	Yes	
	4.2.	The standard supplied minimum mobile unit antenna cable length shall be 20 feet.	Yes	
		Shall have interface wiring and fusing necessary for mobile astallation.	Yes	

				Compl	y?
	4.4.	parti audi	t have interconnectivity to 3rd Party interfaces, in icular LMR (land mobile radios), with a 4-wire, 600 ohm o interface and able to interface to standard COR and type signaling.	Yes Yes	<u>No</u>
	4.5.	cabl	prospective vendor must make available interconnect es to interface with all major manufacturers' current lels of two-way radios and consoles.	Yes	
5.	Com	non l	Radio Transceiver Unit:		
	5.1.	provi	iset and keypad on the handset shall be designed to de local monitoring capability, configuration capability complete control of the radio.	Yes	
	5.	1.1.	An internal speaker shall be provided in the handset to allow a user monitor and control capability.	Yes	
	5.	1.2.	The handset shall be equipped with a Push-To-Talk (PTT) switch, which will allow the keying of cross-connected radio subscriber.	Yes	
	5.	1.3.	The standard supplied minimum handset cable length shall be at least 4 feet long.	Yes	
	5.	1.4.	Configuration shall be accomplished via the handset keypad.	Yes	
	5.2.	Shal	l be capable of PTT operation.	Yes	
	5.3.	Requ	uired Ports:		
	5.	3.1.	Must have a handset port (RJ-45).	Yes	
	5.	3.2.	Must have DB9 serial port for transmitting and receiving data communications at a 4800 baud minimum or function as a GPS port.	Yes	
	5.	3.3.	Must have external speaker port.	Yes	
	5.4.	Must	t be capable of accepting software upgrades applied in ield.	Yes	<u></u>

			Comp	lv?
			<u>Yes</u>	<u>No</u>
	5.5.	Must be powered by a nominal 12 VDC and have a detachable power connector for ease of removing transceiver.	Yes	
	5 .	5.1. The standard supplied DC power cable length shall be not less than 10 feet.	Yes	
	5.6.	Must operate correctly with a maximum humidity of 98% and a temperature of 100.4°F (38°C).	Yes	
	5.7.	Maximum dust resilience in accordance with SAE J1455.	Yes	
6.	GENI	ERAL SPECIFICATIONS AND WARRANTY:		
	6.1.	Upon request and/or prior to bid award, vendors shall provide manufacturer's certification indicating they are an authorized reseller of the product(s) they are offering/bidding.	Yes	
	6.2.	All equipment shall be warranted for a period of at least 1 year, including parts and labor, and beginning when the equipment is shipped.	Yes	
	6.3.	All items are to be available for purchase separately and each item is to be individually priced.	Yes	·
	6.4.	Vendor shall have trained field support in WV.	Yes	

Two Way Mobile Satellite Radio Equipment Price Quotation Form

lte	m		Price Each	Estimated Quantity	Total Price
1.	Insta	c Fixed Kit for Building Illation (does not include Illation)		<u> </u>	
	1.1.	Housing and internal wiring included.	\$ 960	30	\$_28800
	1.2.	Basic Transceiver with Handset and cable.	\$ 1875	30	\$ 56250
ě	1.3.	Land Antenna.	\$ 2179.10	30	\$ 65373
	1.4 .	Power Supply.	\$ 29	30	\$ 870
	1.5.	Antenna Cable (description	\$ 3.10	30	\$ 93
		and price per foot). LMR600 Equiv @ \$3.10/Ft Sub Total:			\$ 151386
Ite	m		Price Each	Estimated Quantity	Total Price
Ite 2.	Fixed Insta	d Kit for Building Illation with Battery Backup s not include installation)	Price Each		<u>Total Price</u>
	Fixed Insta	Illation with Battery Backup	<u>Price Each</u> \$_960		<u>Total Price</u> \$_28800
	Fixed Insta (does	Illation with Battery Backup s not include installation) Housing and internal wiring		Quantity	
	Fixed Insta (does	Illation with Battery Backup s not include installation) Housing and internal wiring included. Basic Transceiver with	\$ _960	Quantity 30	\$ 28800
	Fixed insta (does 2.1.	Illation with Battery Backup s not include installation) Housing and internal wiring included. Basic Transceiver with Handset and cable.	\$ <u>960</u> \$ <u>1875</u>	<u>30</u>	\$ 28800 \$ 56250
	Fixed insta (does 2.1. 2.2. 2.3.	Illation with Battery Backup s not include installation) Housing and internal wiring included. Basic Transceiver with Handset and cable. Land Antenna.	\$ 960 \$ 1875 \$ 2179.10	30 30	\$ 28800 \$ 56250 \$ 65373

2.7.	Internal Power Supply/Charger.	see 2.4 - charge \$ integrated with 2		see 2.4 - charger s integrated with 2.8
2.8.	Voltage Regulator/Status Indicator.	\$ 212	30	\$ <u>6360</u>
	Sub Total			\$ <u>158616</u>
Item		Price Each	Estimated Quantity	<u>Total Price</u>
	sic Portable Kit (does not lude installation)			·
3.1.	Basic Transceiver with Handset and cable.	\$ 1875	30	\$ 56250
3.2.	Land Antenna.	\$ 2081.50	30	\$ 62445
3.3.	Power and other supplied cables.	\$ 106	30	\$ 3180
3.4.	Enclosure (Pelican Case) and internal wiring included.	\$ 1015	30	\$ 30450
3.5.	Transceiver.	\$ 1350	30	\$ 40500
3.6.	Power Supply.	\$	<u>30 ·</u>	\$ 870
3.7.	Additional Antenna Cable (description and price per foot). RG223 Equiv @ \$2.85/Ft	\$ 2.85	30	\$ 85.50
	Sub Total			\$ 193780.50

lte	m		Price Each	Estimated Quantity	Total Price
4.	Bac	able Kit with Battery kup (does not include allation)			
	4.1.	Enclosure (Pelican Case) and internal wiring included.	\$ 1015	30	\$ 30450
	4.2.	Basic Transceiver with Handset and cable.	\$ <u>1875</u>	30	\$ 56250
•	4.3.	Land Antenna.	\$ 2081.5	30	\$ 62445
	4.4.	Power Supply.	\$ 29	30	\$ 870
	4.5.	Power and other supplied cables.			
	4.	5.1. Additional Antenna Cable (description and price per foot).	\$ 2.85	30	\$ <u>85.50</u>
	4.	5.2. Backup Battery.	\$ 29	30	\$ <u>870</u> see 4.4 charger
	4.9	5.3. Internal Power Supply/Charger.	see 4.4 charger \$integrated with 4	.5. <u>4 30</u>	\$ integrated with 4.5.4
	4.	5.4. Voltage Regulator/Status Indicator.	\$212	30	\$ 6360
		Sub Total			\$ 157330.50
Ite	em		Price Each	Estimated Quantity	Total Price
5.		ic Mobile Kit (does not ude installation)			
	5.1.	Basic Transceiver with Handset and cable.	\$ 1875	30	\$ 56250
	5.2.	Power Cables.	\$ 25	30	\$ 750
	5.3.	Mobile Antenna and cable.	\$ 2081.50	30	\$ 62445

5.4. ·	Additional Antenna Cable (description and price per foot). RG223 Equiv @ \$2.85 / Ft Sub Total	\$ 2.85	30	\$ 85.50 \$ 119530.50
Item		Price Each	Estimated Quantity	<u>Total Price</u>
6. Mar Opt	ine Antenna, with case, ion			
6.1.	Antenna.	\$ 2450	30	\$ 73500
6.1	1.1. Premium to supply Marine Antenna, including cabling and additional storage case (if required) instead of standard Land Antenna provided with Mobile Kits.	\$ 915	30	\$ 27450
6.	1.2. Cost of Marine Antenna Kit, including mounting hardware, cabling, and storage case.	\$ <u>2995</u>	<u>30</u>	\$ <u>89850</u>
	Sub Total			\$ 190800
To	otal for equipment			\$ 971443.50

ALTERNATE NO. 1

Two Way Mobile Satellite Radio Service Price Quotation Form per Device

		Estimated		
		Number of Devices	Unit Price	Extended Price
1.	Unlimited PTT Dispatch Minutes & Pay Per Use "0" Satellite Telephone Minutes.	30	\$ 69	\$ <u>2070</u>
2.	Unlimited PTT Dispatch Minutes & "50" Satellite Telephone Monthly Minutes.	30	\$ <u>114</u>	\$ <u>3420</u>
3.	Unlimited PTT Dispatch Minutes & "150" Satellite Telephone Monthly Minutes.	30	\$ <u>194</u>	\$ 5820
4.	Unlimited PTT Dispatch Minutes & "300" Satellite Telephone Monthly Minutes.	30	\$ 301	\$ 9030
5.	Unlimited PTT Dispatch Minutes & "600" Satellite Telephone Monthly Minutes.	30	\$ 483	\$ 14490
6.	Unlimited PTT Dispatch Minutes & "1250" Satellite Telephone Monthly Minutes.	30	\$ 738	\$22140
7.	Unlimited PTT Dispatch Minutes & "2000" Satellite Telephone Monthly Minutes.	30	\$ 902	\$ 27060
8.	Airtime Per Additional Satellite Telephone Minute.	30	\$ 1.19	\$_35.70
9.	Monthly Fax/Data Access.	30	\$15	\$ <u>450</u>
10.	Standard GPS Tracking Monthly Access (End User Application).	30	\$	\$ <u>210</u>
11.	Enhanced GPS Tracking Monthly Access (Vendor's Web based Application).	30	\$ <u>19</u>	\$_570
12.	GPS Poll Rate (Per Poll).	30	\$ 0.60	\$18

13.	Dial-In Dispatch Monthly per Talkgroup.	30	\$ <u>100</u>	\$ 3000
14.	Dial-Out Dispatch Monthly per Talkgroup.	30	\$ <u>100</u>	\$ 3000
15.	Private Mode Monthly per Talkgroup.	30	\$ 200	\$ 6000
16.	Additional Talkgroup Access Monthly per Talkgroup.	30	\$ 200	\$ 6000
17.	Satellite Radio Activation Fee.	30	\$ <u>50</u>	\$ <u>1500</u>
18.	Satellite Radio Suspension Fee per Radio per Suspension.	30	\$ <u>16</u>	\$ 480
19.	Suspended Radio Monthly Fee per Radio (while suspended).	30	\$ <u>10</u> included with	\$ 300 included with
20.	Initial Talkgroup Setup Fee.	30	\$ <u>activation</u>	\$ activation
21.	Additional Talkgroup Setup Fee per Talkgroup (one-time charge).	30	\$ 200	\$6000
22.	Voicemail Activation Fee per Satellite Radio.	30	\$ 10	\$ 300
	Total for Alternate No. 1 Regional 2-beams	\$	111893.70	•.

ALTERNATE NO. 2

Two Way Mobile Satellite Radio Service Price Quotation Form per Device

	•	Estimated Number of Devices	CONUS 3-Beams Unit Price	CONUS 3-Beams Extended Price
1.	Unlimited PTT Dispatch Minutes & Pay Per Use "0" Satellite Telephone Minutes.	10	\$ 99	\$ 990
2.	Unlimited PTT Dispatch Minutes & "50" Satellite Telephone Monthly Minutes.	10	\$ 144	\$ <u>1440</u>
3.	Unlimited PTT Dispatch Minutes & "150" Satellite Telephone Monthly Minutes.	10	\$ 224	\$ 2240
4.	Unlimited PTT Dispatch Minutes & "300" Satellite Telephone Monthly Minutes.	10	\$ 331	\$ 3310
5.	Unlimited PTT Dispatch Minutes & "600" Satellite Telephone Monthly Minutes.	10	\$ <u>513</u>	\$ 5130
6.	Unlimited PTT Dispatch Minutes & "1250" Satellite Telephone Monthly Minutes.	10	\$ 768	\$ 7680
7.	Unlimited PTT Dispatch Minutes & "2000" Satellite Telephone Monthly Minutes.	. 10	\$ 932	\$ 9320
8.	Airtime Per Additional Satellite Telephone Minute.	10	\$1.19	\$ 11.90
9.	Monthly Fax/Data Access.	10	\$ 15	\$ <u>150</u>
10.	Standard GPS Tracking Monthly Access (End User Application).	10	\$7	\$ _70
11.	Enhanced GPS Tracking Monthly Access (Vendor's Web based Application).	10	\$ 19	\$ 190
12.	GPS Poll Rate (Per Poll).	10	\$0.60	\$6.00

13.	Dial-In Dispatch Monthly per Talkgroup.	10	\$ 100	\$ <u>1000</u>
14.	Dial-Out Dispatch Monthly per Talkgroup.	10	\$ <u>100</u>	\$ 1000
15.	Private Mode Monthly per Talkgroup.	10	\$ 200	\$ <u>2000</u>
16.	Additional Talkgroup Access Monthly per Talkgroup.	10	\$ 200	\$ 2000
17.	Satellite Radio Activation Fee.	10	\$ 50	\$ 500
18.	Satellite Radio Suspension Fee per Radio per Suspension.	10	\$ <u>16</u>	\$ 160
19.	Suspended Radio Monthly Fee per Radio (while suspended).	10	\$ 10 included with	\$ 100 included with
20.	Initial Talkgroup Setup Fee.	10	\$ activation	\$ activation
21.	Additional Talkgroup Setup Fee per Talkgroup (one-time charge).	10	\$ 200	\$ 2000
22.	Voicemail Activation Fee per Satellite Radio.	10	\$ <u>10</u>	\$
	Total for Alternate No. 2 CONUS 3-beams	\$_	39397.90	

ALTERNATE NO. 3

Two Way Mobile Satellite Radio Service Price Quotation Form per Device

		Estimated Number of Devices	All Regions 5-Beams Unit Price	All Regions 5-Beams Extended Price
1.	Unlimited PTT Dispatch Minutes & Pay	10	\$ 129	\$ 1290
	Use "0" Satellite Telephone Minutes.			
2.	Unlimited PTT Dispatch Minutes & "50" Satellite Telephone Monthly Minutes.	10	\$ 174	\$ 1740
3.	Unlimited PTT Dispatch Minutes & "150" Satellite Telephone Monthly Minutes.	10	\$ 254	\$ <u>2540</u>
4.	Unlimited PTT Dispatch Minutes & "300" Satellite Telephone Monthly Minutes.	10	\$ 361	\$ 3610
5.	Unlimited PTT Dispatch Minutes & "600" Satellite Telephone Monthly Minutes.	10	\$ 543	\$ <u>5430</u>
6.	Unlimited PTT Dispatch Minutes & "1250" Satellite Telephone Monthly Minutes.	10	\$ 798	\$ 7980
7.	Unlimited PTT Dispatch Minutes & "2000" Satellite Telephone Monthly Minutes.	10	\$ 962	\$ 9620
8.	Airtime Per Additional Satellite Telephone Minute.	10	\$ 1.19	\$ <u>11.90</u>
9.	Monthly Fax/Data Access.	10	\$ <u>15</u>	\$ <u>150</u>
10.	Standard GPS Tracking Monthly Access (End User Application).	10	\$	\$ <u>70</u>
11.	Enhanced GPS Tracking Monthly Access (Vendor's Web based Application).	10	\$ <u>19</u>	\$ 190

12.	GPS Poll Rate (Per Poll).	10	\$ 0.60	\$ 6.00
13.	Dial-In Dispatch Monthly per Talkgroup.	10	\$ _100	\$ 1000
14.	Dial-Out Dispatch Monthly per Talkgroup.	10	\$ <u>100</u>	\$ 1000
15.	Private Mode Monthly per Talkgroup.	10	\$ 200	\$ 2000
16.	Additional Talkgroup Access Monthly per Talkgroup.	10	\$ 200	\$ 2000
17.	Satellite Radio Activation Fee.	10	\$ _50	\$_500
18.	Satellite Radio Suspension Fee per Radio per Suspension.	10	\$ _16	\$ <u>160</u>
19.	Suspended Radio Monthly Fee per Radio (while suspended).	10	\$ <u>10</u> included with	\$ 100 included with
20.	Initial Talkgroup Setup Fee.	10	\$ <u>activation</u>	\$ <u>activation</u>
21.	Additional Talkgroup Setup Fee per Talkgroup (one-time charge).	10	\$ 200	\$ 2000
22.	Voicemail Activation Fee per Satellite Radio.	10	\$ <u>10</u>	\$ 100

Total for Alternate No. 3 All Regions 5-beams

\$ 41497.90

Two Way Mobile Satellite Radio <u>Equipment Price and Service Price Quotation Form</u>

\$ 971,443.50

Total from Alternate No. 1 Regional 2-Beams

\$ 111,893.70

Total from Alternate No. 2 CONUS 3-Beams

\$ 39,397.90

Total from Alternate No. 3 All Regions 5-Beams

\$ 41,497.90

Grand Total

\$ 1,164,233.00



Request for Quotation

DPS1114

PAGE

TARA LYLE 304-558-2544

WEST VIRGINIA STATE POLICE

4124 KANAWHA TURNPIKE SOUTH CHARLESTON, WV 25309 304-746-2141

RFQ COPY
TYPE NAME/ADDRESS HERE
Network Innovations
1501 Green Road
Pompano Beach, Florida, 33064

DATE PRINT	ED	TER	IMS OF SAL	f	Si	HPVIA	***	F.C) B		FREIA	HTTERMS
01/21/2011			***************************************			*****		************	*****			
BID OPENING DATE:	0	2/01/2	2011	200000000000000000000000000000000000000	Xoobseeconooco	·BID	OP	ENING 1	'IME	01:	30PM	
LINE	QUAN	TITY	UOP	CAT. NO	ITEM	NUMBER		UNIT	PRICE		A	MOUNT
E	. ADD OCUMEN	ENDUM T SHOU TO SI IFICAT	AND ACKNO LD BR GN AN	ADDEN ANSWE WLEDO SIGN D RET	EMENT I ED AND URN MAY R BID.	ATTACHEI S ATTACI RETURNEI RESULT	MI NI	ITH YOU	· .	•		
ļ				•	REQU	JISITION	NO.	.: DPS1	.114			
, 24	DDENDU	M ACKN	OMPED	GEMEN	T							
· I	DDENDU	M(S) A	ND HA	VE MA	DE THE	F THE FO NECESSAL CATION,	RY E	REVISIO	HECKEI NS TO	MY		· ,
Ą	DDENDU	NO.	s:									
Ŋ	0.1.	Receiv	ed - thi	s docu	ment						·	•
Ŋ	0.2.	Not Re	ceived						•			
, N	0.3.	Not Re	ceived		1							
N	0.4.	Not Re	ceived								-	
Ŋ	0.5.	Not Re	eived									
I 24	UNDERS DDENDUM	STAND 4(S) M	THAT AY BE	FAILU CAUS	RE TO C E FOR R	ONFIRM T	HE HE	RECEIP BIDS.	T OF T	HE		
GIGNATURE	_			SEE REV	ERSE SIDE FC	RTERMS AND C			, Ir	DATE -		
	<u> </u>	FE	IN				87	7 311 14			7 Janua	
Account Manager 1-98-038-2824-300 61065 ADDRESS CHANGES TO BE NOTED ABOVE												

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia and the Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as **EQUAL** to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



RFQ COPY

TYPE NAME/ADDRESS HERE

Pompano Beach, Florida, 33064

Network Innovations 1501 Green Road

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

DPS1114

PAGE

TARA LYLE
304-558-2544

WEST VIRGINIA STATE POLICE

01/01/0011		000000000000000000000000000000000000000	SFIIF		F.O.E		FREIGHTTERMS
01/21/2011 BID OPENING DATE: 0							
)2/01/2011	1888-1888-1888		BID C	PENING TIME	<u>01:</u>	30PM
LINE QUA	NTITY UOP	CAT NO	ITEM NU	WBER.	UNITPRICE		AMOUNT
1			<u>.</u>		,		•
VENDOR	MUST CLEARI	Y UND	ERSTAND I	HAT ANY	VERBAL		
REPRESE	IAT ION MAI	E OR	ASSUMED 1	O BE MA	DE DURING ANY		
					EPRESENTATIVE	S	
	STATE PERS						
	TION ISSUEI						
SPECIFI	CATIONS BY	AN OF	FICIAL AI	DENDUM	IS BINDING.		
					•		
·			. (\sim			
			• • • • •	••••			,
				SIG	NATURE		
					, ,		
Network	Innovations						
					,		
			• • • •	CC	MPANY		
·				27 Ja	nuary 2011		•
1 1				DA		• • •	
				DA	15		
Momm. m	UITO ADDENADA		MODIL ED OFFI				
		M ACK	NOWLEDGEM	ENT SHO	ULD BE SUBMIT	TED	
WITH TH	E BID						
				i			
REV. 09	/21/2009						
		İ					
į					•		•
!		EN	D OF ADDE	NDUM NO	. 1		
						ļ	
]			•				
		1		i			•
001	ΕA	7	25-74				
	10				3836		38360
YAW-OWE	MOBILE SAT	et.T.Tal	פסדתמק פ	+			
			. 14HD 10D				
					•		
		1	•]			
		wetener	EGOE ASPT TOP	- mercona pro-			02
SIGNATURE		OCE HEV	ERSE SIDE FOR T			DATE	
		TELEPHONE 1 877 311 1411 DATE 27 January			?7 January 2011		
Account Manager	r FEIN 1-98	-038-2	824-300 61	The state of the s			<u></u>
				SDACE ADOVE LABELED WEARDOW			

DPS1114 Addendum No. 1

- Q1: Please identify the specific types of 3rd party interfaces you plan to use for this application. (JPS ACU1000, Pyramid etc).
- A1: Jps Raytheon ACU's, CISCO IPICS, Wifi routers, Land mobile radios, POTS telephone line, Sat Comm, etc. Also, refer to section 1 of the mandatory specs.
- Q2: Please identify which Manufactures you consider as Major for the interface cables.
- A2: Motorola, or equal.
 Kenwood, or equal.
 EF Johnson, or equal.
 Tait, or equal.
 MaCom, or equal.
 Raytheon, or equal.
 CISCO, or equal.